

A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 12/29/2012 11:56:59 AM

Mode of Payment: Cash Challan

APPLICATION ID : NRCAPP5743

Website: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant

e of the Applicant

Designation

Address

E-mail Address

Telephone No (Office)

Telephone No (Resi)

Mobile No

: RAM BAHADUR SINGH

: MANAGER

: VILLAGE&POST-MOTIHAN, HANDIA ALLAHABAD,

U.P. PINCODE-221508

: managersrrb.singh@gmail.com

: 05332-286455

: 05332-286455

: 09452140020

Name of the Applicant/Organization/Socity/Trust SANSTHAN MOTIHAN

09452140020

: SHALIGRAM SINGH SMARAK SEWA

Postal Address of the Applicant

Plot Number

: 64

Street/Road

: MOTIHAN

Village/Town/city

: MOTIHAN

Post Office

Tehsil/Taluka

.....

1 001 011100

: MOTIHAN

100000

: HANDIA

Town/City

: ALLAHABAD

State Pin Code

: UP

District STD Code

: Allahabad (UP) : 05332

Telephone No

: 221508 : 05332-286455

Fax No.

: 05332-286455

E-mail ID

.

Website Address

: www.srsrbsbed.org.in

managersrrb.singh@g

mail.com

Permanent Account Number of Society/Trust/body

: 20010223



A Statutory Body Of The Government Of India

Details of Programmes other than Teacher Education

Details of Programmes other than Teachers Education if any, run by the same Applicant /

Name of the Institution	Name of the Programme	Level of the Programme	Duration of the Programme	starting the	· · · · · · · · · · · · · · · · · · ·	Date of Affiliation
SR SINGH RB SINGH MAHAVIDYALAYA MOTIHAN HANDIA ALLAHABAD	ВА	Others	3	2008	CSJM UNIVERSITY KANPUR	Jul 1 2008



A Statutory Body Of The Government Of India

Particulars of Application Institution

Institution Information

Name of the Institution

: SR SINGH RB SINGH MAHAVIDYALAYA MOTIHAN

HANDIA ALLAHABAD

Course Applied for

: B.Ed

Nature of Application

: New Recognition

Mode of Course

Face

Complete Postal Address[As mention in the Affidavit]

Land Identification (Plot/Khasara No.)

327,323,324,304

Land Title

: OWNERSHIP

Plot Number

Tehsil/Taluka

Website Address

: 327,323,324,304

Street Number

: MOTIHAN

Village

: MOTIHAN

Post Office

village

: HANDIA

: MOTIHAN : ALLAHABAD

State

: UP

Town/City

Street,

: 221508

District

: Allahabad (UP)

Pin Code

Telehpone No

: 05332286455

Fax No.

: 05332286455 : srsrbsbed.org.in

E-mail ID

managersrrb.singh@gmail.co

-

Institute is for

: Coed

Institute is a Minority Institution

: No

Type of Management

: Private

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: CSJM UNIVERSITY KANPUR

Address

: CSJM UNIVERSITY KANPUR UP

Telephone Nos.

: 09721451009



A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes/Courses

Details of Existing Teacher Education Programmes/Courses run by the same applicant

Society/Trust/Organisation

Name of the Institution	Commenceme	Existing approve d intake	ion	Recognition Order Date		
~			La CONTROLLEGIO		- our ur o	
-					niversity	4



A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the	Date of	Applicati	1	Academic	Proposed	Regional	Status
Institution	Application	on ID	the Program	session for which	intake	Committe to whom	
	S CANADA PAR		me	applied		applied	



A Statutory Body Of The Government Of India

Particulars of Funds

Details of the Endowment fund (self-financed institutions/programmes) (Please see Clause 10 (1) of the NCTE (Recognition Norms and Procedure) Regulations, 2007 published on 10.12.2007)

Particulars of the Endowment fund (to be filled in the case of self-financed institutions/ programmes)

Amount of Endowment Fund : 500000

Fixed Deposit Receipt Number : TDR/2011/MM 021949

Duration of the FDR (Minimum five years) :5

Date of issue : 12/20/2012 12:00:00 AM

Name of the Nationalized Bank : BANK OF BARODA

Full address : BANK OF BARODA BINDA ASEPUR SAIDABAD

HANDIA ALLAHABAD 221508

Phone numbers : 09554951716

FDR enclosed in original : Yes

Particulars of the Reserve Fund (to be filled in the case of self-financed institutions/ programmes)

Amount of Reserve Fund : 300000

Fixed Deposit Receipt Number : TDR/2011/MM21950

Duration of the FDR (Minimum five years) :5

Date of issue : 12/20/2012 12:00:00 AM

Name of the Nationalized Bank : BANK OF BARODA

Full address : BANK OF BARODA BINDA ASEPUR SAIDABAD

HANDIA ALLAHABAD 221508

Phone numbers : 09554951716

FDR enclosed in original : Yes



A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme/course

Area of the land in possession (in sq. mts.)

: 10300

Built up area earmarked for the course (in sq.

: 1834.92

Whether the building constructed / proposed to : Yes

be constructed on the same land.

Building

Please refer to Clause 8 of NCTE (Recognition Norms and Procedure) Regulations, 2007

Date of completion of construction of the

: 15/09/2012

building.

Name of the competent authority for approval of : RAMESH CHANDRA

building plan and issue of completion certificate

Address of the competent authority for approval : 28 B/45A/1 ALLAPUR ALLAHABAD UP 211006

of building plan and issue of completion

certificate

Whether Bldg. is disabled -friendly as per the

Total Built up Area (in sq. meter)

: 3356.66

Total Built up Area (in sq.ft.)

: 36131.96

Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq.
Class Room -	2	11.5	7.5	86.25
Class Room	1	11.5	7.5	86.25
Seminar room / Tutorial room	3	11.5	7.5	86.25
Library	16	14.19	7.5	106.43
Administrative Office	20	12	3.6	43.13

Store Room **	9	3.83	3.3	12.64
Art & Crafts Room	13	11.5	7.5	86.25
Any other facilities	6	5.75	7.5	43.125
Any other facilities	7	4.3	7.5	32.25
Multipurpose Hall	4	24.80	7.5	186
Principal Room ·	21	4	4	16
Store Room · ·	15	3.76	3.3	12.408
Store Room	14	3.76	3.3	12.408
Sports Store	10	3.83	3.3	12.64
Girls Common	5	5.75	7.5	43.125
Science Lab1 ···	8	11.5	7.5	86.25
Science Lab2 **	11	11.5	7.5	86.25
sychology Lab '	17	5.75	7.5	43.13
Educational (Fechnology (ET) /	18	5.75	7.5	43.13
oilets (Male)	23	4	7.5	30
oilets (Male)	22	4	7.5	30
oilets (Female) · ·	19	4.3	7.5	32.25
ny other facilities	12	3.63	7.5	27.23



A Statutory Body Of The Government Of India

Details of Instructional Resources

2 4	4			
L	n	rs	٦r	٦./
	u	1 6	20	v

Total number of Titles : 1061

Total number of Books : 3115

Journals : 07

Computer Laboratory

No. of Computers : 18

Internet Access : Yes

LAN :Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
PRINCIPAL	1	12000	1	0
LECTURERS	12	10000	12	0

Technical Support Staff

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
TECHNICIAN	2	6000	2	0

Administrative Staff

Details of Non-Academic Staff available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
CLERKS	5	5000	5	0
GUARD	2	4000	2	0
STORKEEPER	1	4000	1	0
PEON	5	4000	5	0



A Statutory Body Of The Government Of India

Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq.
1	50	42	2100

Website: www.ncte-india.org